MA751
MH751

750W Low inertia
750W High inertia

= = e
2E 7|59 750W 750W
Low inertia High inertia
MoOooooo2oo** MA75102 MH75102
MR ZUX| AO|= mm 080
=R (No] =1 2.5 27
RaE "FE! ke 3.3 35
HqAMY \Y AC200
HAEY W 750
HAEZ N-m 2.39
27t 2ER N-m 7.1
HAMZ Arms 4.3
=7t X Z Arms 12.8
PPN PSS r/min 3000
EVEEESES r/min 4500
EEIRSES N - m/A 0.61
YR HL ™ mV/(r/min) 213
_ EENERE 64.1 35.9
YA meR0E FERE! e kw/s 52.8 321
EE[JER:= 0.53 0.94
ZIARABS FENERE ms 0.64 1.06
I HA Y4 ms 4.3
=] [es K=2
oM moE EE =R %10-*kg - m? 0.89 1.59
=S FENERE o 1.08 178
g - X
o | BAMY v DC24V+10%
L IE=EZFSE A 0.4
5 .
3' HOotEEZR N-m 2.39 0|4
A | BelAlz ms 70 Of|lA 100% X
| AMerAIZH ms 20 oM 100%
Afdpx{Qf \Vi DC1V O]t
Htod R — t=12X 0350 Y2 0|5 Yot
NTE M
- O
ENTSYN Bo4ES - 39 25
10 - il seal g2 - Oil seal g2
€ s HZAE S H|(%) M2 E T H|(%)
z
z N
[} AJIEX S \
g S2tSE Fo
< N
5 N
[l
2 —
m HAEX A ™
LLH ‘ﬁoﬁ‘ =

3| X4~ Speed (r/min)

RIS E

W MA751

«
(e O
~ ~

(
0 1000 2000 3000 4000 5000 6000

4196

=]
TT0hT —

8.1l
149.3(112.3) 135

14

Bl MH751

210

419h6

|

970n7

164.3(127.3)

S,

35

| ]
o
m
[N}
(=}

X|+E UEPHUCE




MM102 1kW Middle inertia
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